PATLITE.
LEDERBARER I T 547 vk

PATLED®
e ®
kiR BEAE

[ #st: CLK-001 |
ZDF=WE, LEDERBABEA TS vk /by X EHB B EFWN=EEHYNEST
SWET, SHEAOHICCOERRAEE KBFHADIZ, ELLBFELESL,
AREFRUNFEBENEE BT AROCHEBOBRIEIAZELNTEFTHEI,
AR mlE, B RAOASENEhEESY,

BEHENZEDARMDANDREE. ﬂ?li“@?ﬁ%i’*%liﬂﬁi?ét&)\ WFHEFYN=TK
CEE ROEIITHBALTOET,

ORTHBEEBRL TR ENAZLIBICELIRBLEEOEEEZ. RORTTEAL.
BEALTLETY,

| NELE coxrofi (EErEEEeASTRENEESNENE IETLTOET,
| AR 05700 [MEEASTRESEINRESRET STRINER
4. ShPRBIERLTNE

095100061_02

0#’5?’1‘L)L\T:T:(Iﬂﬁd)ﬁﬁ’é&@ﬁiml‘liﬁlﬂ HBALTLET,
® ZOESBHFRE, LTEONF RN IRETY,

o COEIBRETIE, BTEFLCOEE BRI AETT,

1. REDFEHITHT BFYNEENE

| E_écd:l
= (=

® HRONME BEELBNTIZEL,
@ AHBEMMFICIYM =R, ARREEATEMIZE oY,
k) EEOAN—ENTERICAR RIS SR YLR ORI+ E R
LTS, &R BT AEDRELBYERBIBIRTS,

@ iR, KB, T, RFOEL, B ILEDRADEREH YIS,
@ MFHIVTFLMIREFEVTFFIEEMRIEL TSN,

rgsl)  BKE KK ETREDBBRAHYET .
@ DT PRTFORICE, BEDETEIFMERL TS,

N =
_| A/I R I
@ LEDFRBET—%-51h CLK-24(A)AG &
GRFATIEZILES, BRI RIEASR ) EAO
Mkl BATS79NCT, b ARICERALEBNTIES,

2. HEBDBFETE

WA (BAL: mm) KRR A (E7)

60 $4.2x52 A
H

\{?O (M{(
o | 2&14;%?1;7?8
AU AR 5 Wf/& e =
2-$5.2%7.2 K00
| At |
| B <& ‘ 0
T i
| 17 LTy s
(FR1.F%) M4x8 (SUS)
. ATE [ BIE | [
SR# [WAEYF| | i
CLK2S-24(A)AG-0O01 290 274 ! ﬁﬁﬁﬁ i
CLK3O-24(A)AG-0O0 390 374 [P
CLK6O-24(A)AG-0O1 690 674 M4 @R (44)

3. ERft 1

@ LED BEHAT—9 54 FORBRARIVFEARERF T 57y FERYSLET
IUSLI=BBERIE, REICRETZSN,
“TITIMEAFER" (ALK [ B2HRNTIEZEN,

Ak M4 BT 73/7%%&1#5 2tn7579 A

ANTE

‘J o \°"' o :ﬁ‘ © IS MM E
BHRNTEEL,
n/\ﬁ/\ﬁﬂw// W FiE —EThEnETL
Bkl RS b

i1,

@ LED BBAT—954 hAKIZ CLK-001 A MFTET,
CAREHMN AT REBANRB T HAEME 2y T 12 MA BRUEFEOITET,
“AREARMNB 7 - AR A T DIBISEED T TS,
FEAMLOIE, 1.4 N-m LTS,

i w
o __Jlo—O 0 O Ly <
W REAC ] »

LT 14 Nm

@ THIHEDHSFELIMAEIC LLRNMI K. HRBERMYFITET,
“HARIAA AN ITMb RLEBL, AT TZE,
M5 RLH#EANLIIE, 2.8 N-mELTEZE,
YN EE” NTRATORMFEHELTOEYT ., (BAHRE KFOLE)

)

& N
Qb L e
M5 Al N

HERL MEX10
FEATHEENLY 28 Nm

vk CLK-001
ME ATULR
BHE 28 g (1 1&D

B AR - EHEE &hm - BENER
MR E 19.6 m/s’

EAREHE 40 °C ~ +60 °C (90%RHLLT. fEAZCE)
R CLK-24(A)AG B
XIS E (BT TLI=ILAS, RAERICHTR HH) B
B% 2 @

[ ] Tj’;ﬁ'ﬁ:&ﬁ:}:lﬂ*ﬁﬁ’;eli\ BEDDFEBRERET HLABYTS DT,
ST AEESL,

ioE | m=: ok-001 &4 LEDIRB R A 754 vh

X IES
8

SO
HHAH] (53
TR T

FBEES
{RALEARAIE
HFEWEFALY
1EMTY,
HREWEITH

5= A a8 8e

O [m R e

( )
1%&@%@&&&0%&1,1!; TR SRR EECHEREI,

BEE
REFAEADBEOIRE, BFRTIAMAERANES,
zfa%tt‘z‘?&)d)ﬂ!i;br FF B ITTRRES L,

TR
ESRAVEEE BERABELIESN,

WRFERE ezt
SO BB SRO EITMBIRILT R 51 (LT BRIENDES) BREETBIBICOLTHE

%1 yo TN AR MTOLY
:%gbfﬁ i B e L R R RS R S hcameomnpmnics

(ﬁnI JZU (RAL 5)
H ! Léwgééﬂ Eﬁﬁ; B)EVVED) IKARRITOVTUTOESOVThAEEL
E%
MEE

L]

B

mﬁ g aéa RN

e A R s R L R Lrga
% e S iR et L

b

¥ »&’;(,; &%ugf&% B8 BT, RERIEVNET). BEORBILE-TREICEBEEE R ESOREDL T
b PioHEE Lae sunmns DB S0TRRCH TSI

§§ : IEtL G RS RIS T IO R G LG L i R

BRORMCELT, WIS ORERICEIF— ; ERHTEENEAIE BEORBILEYFRRLR

%*umi %g 282 ﬁﬂﬁga 12k - ¢ - -
o

u?ﬁﬁﬁumﬁymﬁﬁam REA AR AL p—

-ty =' DLTnpIBLTSEe % l:§ FEREFREADLLOLET.
e SRy TR T SO ﬁ‘
2 g%.ﬁ ’%i jgzrmag ) \%%% UARNEELLi8E

u

N

G
]
u$§1}rp—
N
S
q‘.‘:

T 7]
nnlﬂ
r

9“+
S
;

S
o
nnlﬂ

T IREC
Bl

TElC 6% NERH|CERLTARDNRELIIBS
. R RBRAFE T CEIEVARDRELT

S
IpOY
ZQC!SS
e
E
3&
SI’
ﬁ;.*sie
it}
N
I
i
"A‘
S
i

S
o
E3
FHAn
rnjre
2

HEDES OOt
PR AR

S
Wﬂ

‘r. )
HE
:
ot

i)
“A:
T
83;
HE:
sl

Ma
N
WA
IR
M
Bl
£
z}nb
=
]
i
C
ot
I8}
n
ot
B
E
N
)
[\
<
~A
o
o
<
&

o>

TEOJ% i&

?“ﬂ
sy
&
=

%m%zm l:&')xﬁ?b‘%

O,

BES0) IERLTRBASRELLIBS
BN o o AR e
%’Lr-x%s

S0 g
o

oM

2©
\)M
T
ALy
J

86

S

S
S

@
e

o

N

R

ICECTERIEE, BRAE
g\%n ’E??jg SL@«{}iﬂﬁf}
COETH. ‘_hbtd‘ﬁ

SERESTTRBV L CEOEL, BrHdThS s

U
S
on?

ST

|

it
m
=
5
1LE
=3
St
e
250
o
=
(E\_Em
B
=
S
#5“.124
W\:(‘
H

oF
|
)0}
S
o
G
el
HEER
T
D el
S
'H'-J?\'
Sk
Be
&
[
D
E_zr

A
o
R
N
N
s
|

S

Y,

[

Hor
o
=5 o
HEJ R
05 9
KoV
a-ﬂJﬂ
e
o =
il
o
LS
3l
S
N
Y W
At
Iy
3
[
o
3
oS
{NE
S
Y
(o
9%
o,

A

i

N =W w
w
wﬂ
l‘|_\ﬂ::_
N
N
fi«\w

RIC YRy,
o
ahl

&
Sx
Z

¥
ERE
pE]
i
arg
L
e
~
<
9t
N
oS
‘_\
Lu
\
‘J
\
AN

i
il

O

S
(@
R
o
,\,._
R AR
.
ztan}H
’”‘m
D}
.¢
i
“411[’
QNmn
G iy
)H”“:
233
I
g

é;&t\b‘i T rsﬁaniﬁii)?'i
TAETOCUIESEVEDELET,
2 g 7'41/7111%&{?—‘);&

<N
o, | oF

i

2 o]

w
oF
Gy

00
A KL

\-u

N
sy
S
w\\
&y
Y
!
<
A NP
Ay
S
Rt
<
qé
NFE{

R
o~ HHH A Eﬁm
LrEu
-

NNNNNES
N

%
ol
JoiN
>
I
n

Sl Ibsg

Y’

= o

s
B SowE 9
P
:b} SHr
N5
g
P
i
A*]
of
ot
c
o
D
of
N
%
)
3,
St
T
9%
o}

o
gt

‘BoS0

Pt
NN
|
AT 25

b
Rl
5

o
c“mI\!
O o
AR
kO
~AN
[Nxid
‘9

|

9+

=S,

Ieris

R

BTN
GrEom
(
19
el
W\
%*
Cipiery
U,
ok,
vt
I,
R
ot
]
2
N
o
)
Al
s
=3
J
Al

kW b W
FHN ary fat
peis
&
&
O,
Dt
259, T
i
S
e
x|
JHm—
Y
S
op7t
0
£
>3]
o
)
N
o+
S
I
(o
9ﬁ
vw
b
i
S
=
)
o
9r
e
|
E)
r
B
N
&
ki
3
HF
C
t

HRARHNFSIH

HAPTRL-RE- XX EBBITS

#xRa2t JNFSTH J2E

https://www.patlite.co.jp

(Z44) ¥H9:00~17:00 45
FH12:00~13:00% U+ -H-428"
FEOOSBOORUE AR @ (EIRIEHE ) 10120-497-090
HOEX - - BRATSR BREEMUAEFRRRETEICESHLELESREEL,
ST A b, PATLITE, /S Lw X, PATLED®s(E,
HR2AA LS4 OBARVEEOBRERE L EHETT,




PATLITE.
Bracket for LED Work Light

PATLEDs.

User's Manual
Model : CLK-001 |

Thank you for purchasing the PATLEDs LED Light Bar for your
application. Prior to installation, please read through this manual for
proper installation and precautionary steps. In addition, please store
this manual for future reference when performing maintenance, repairs
or inspections. If you have any questions regarding this product,
please contact our PATLITE Sales Representative.

Safety Precautions

In order to prevent any damage to the user and other personnel or to assets, note the
following:

@ The following symbols classifies the following precautions into two catagories and
explains the level of harm inflicted when caution is disregarded while using this product.

AWarning Displays the warning "Failure to follow warning may lead to death or severe injury".

Acaution Displays the warning "Failure to follow caution may lead from light to medium injury
or maylead to property loss or injury to others".

@ The following symbols indicate and explains the nature of the information
to be observed.

® This symbol indicates "Prohibited", which should not be carried out by all means.

o This symbol indicates "Enforced", which should be observed and carried out by all means.

1. For safe application, observe the following

—| &Waming I

@ Do not disassemble or modify this product.

@ After installing this product to the machine, etc., do not operate it
with the cover removed or use it as a step-ladder when climbing
onto the machinery. Failure to comply may result in falling off the
machinery or product damage may occur.

[Prohibited]

@ Be sure to disconnect the power of LED Work Light when wiring,
mounting, exchanging, or repairing the product.

[Enforced] @ Request the installation and wiring to be accompanied by a
professional contractor. Failure to comply may result in electric
shock, fire, or falling from high places.

@ Verify the installation location is a firm location which can handle
the weight of the product and has no adverse vibrations.

3. Installation

(@ Remove the Hex Socket Bolt and Standard Bracket for LED Work Light.
Keep the removed parts nearby.
Do not loosen the "Bracket Hook"(Screw).

Standard Bracket

Wo
i
Hex Socket Bolt / CLK-24
Main Unit
/N Caution

@ Do not loosen or remove the Bracket Hook.
Failure to comply will result in a decrease
in waterproofing performance.

Main Unit M4 Tap Bracket Hook

|

o

[Prohibited]

@ Attach the CLK-001 to the main unit of LED Work Light.
Attach an M4 screw to "Main Unit Assembly Hole A", "Main Unit Assembly Hole B",
and "Main Unit M4 tap". Tighten in the order of "Main Unit Assembly Hole B",
then "Main Unit Assembly Hole A"(Long Hole). Use a mounting torque of 1.4 N-m.

I
ks

Torque: 1.4 N-m

3

o [©)
S o® Wy e

@ After tapping the mounting holes to a flat and sturdy surface,
use four M5 screws for mounting.
Attach an M5 screw in the "Side Attachment Hole", and tighten.
The recommended torque for the M5 screw is 2.8 N-m.
Mount with the "Locking Hole" in a downward direction.
(When Mounting Horizontally)

M5 Screw \__Locking Hole

Recommended Size: M5x10
Recommended Torque: 28N-m

4 . Specifications

If installed in a place where vibration is frequent and/or exceeds the
specifications, damage to the product may occur.

[Prohibited]

—| /N\ Caution I

@ This Attachment Bracket is specially made
for the CLK-24(A)AG & CWK-24
(Body: Aluminium Alloy, Lens: Tempered Glass) Series, only.

Model CLK-001
Material Stainless
Mass 28 g (per piece)

Mounting Direction
Mounting Location

Any Direction / Indoor Only

Vibration Resistance

19.6 m/s’

Operating Temperature Range

-40 °C ~ +60 °C (90%RH or less, no condensation)

Corresponding Model

CLK-24(A)AG & CWK-24
(Body: Aluminium Alloy, Lens: Tempered Glass) Series,
Exclusive Use

Quantity

2 pieces

2. Part Names and Dimensions

EDimensions Main Unit
(Unit - mm) Assembly Hole A (Long Hole) ~ Main Unit
60 $4.2%52 Side
‘é}o ¥ Main Unit
© Assembly Hole B
Side Attachment ~ 4.2 t15 o
Hole o L4 ~
2-¢5.2x7.2 CLK-001
| Dimension A
‘ Dimension B
(Table 1. Dimensions)
Dimension A | Dimension B [ |
Model Full Length | Mounting Pitch | ﬁﬁ ﬁﬁ !
CLK2S-24(A)AG-0O0 290 274 - - !
CLK3O-24(A)AG-0O0 390 374 M4 Accessory Screws (4)
CLK6O-24(A)AG-0O1 690 674

improvements, etc.

@ Specifications and dimensions may change without prior notice for

PATULITE Corporation

PATULUITE Corporation 3Head office
PATLUITE (U.S.A ) Corporation
PATUITE Europe GmbH %Germany
PATLITE (SINGAPORE) PTE LTD
PATLITE (CHINA) Corporation
PATUITE KOREA CO., LTD.
PATLUITE TAIWAN CO.,LTD.
PATLITE (THAILAND)CO., LTD.
\PATLITE MEXICO S.A.de C.V.

Whttps://www.patlite.com/
Whttps://www.patlite.com/
Whttps://www.patlite.eu/
W https://www.patlite.com/
W https://www.patlite.cn/
Whttps://www.patlite.co.kr/
Whttps://www.patlite.tw/
Whttps://www.patlite.co.th/
Ihttps://www.patlite‘com‘mx//

PATLITE, the PATLITE logo and PATLED’S logo are trademarks,
or registered trademarks of the PATLITE Corporation of Japan and each country.




